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1 -5k Ih 430skdckkdokotokok k8 32 77 70
2 T 61 0ottottottotkor 31 7 78 80
3 XM 44 T dolokspotokarotokok | 92 66 80
4 T4R 522 kskdsktsiekadokek (079 67 70
5 AL 45 2sksfdkokekekeikok()1 7 87 70
6 B A 452k kkkk40kk(0 1 6 78 70
7 HE A4tttk 9 1 7 86 70
8 FE 44 ] kdkdokdoksdokdok (094 85 40
9 IR 42 Isttokokokiokh 13 69 30
10 25375 430kskskkskskskokekekk63 1 82 70
11 £ 45 2%Akdkdokdk4k (010 93 70
12 NSk 45 2%Akdkdokedokdkok 2T 2 74 40
13 RV 440kAkAdkdokodokdk 7] | 81 70
14 BEEE 450Kk KAk AR ] 96 77 70
15 PRy 43 1 kekskokokskstokokekok 1 18 71 40
16 XS i 4= 432%kkkkkxkk%0 1 7 65 70
17 e 4 30skskekskesksrskoksk 1 74 76 70
18 X 45 23%Hdkkeksicokok 230 88 70
19 KR A % 430skskokstokokokk 61 1 69 30
20 FRE ST 430%kAdkkdokdokk k339 77 45
21 Iy i A50skskskttskkoktodk k() 1 X 74 70
22 Bty 4 30kkskkdokokdok k(053 86 30
23 X FE4 51 3sksksdokskstotokokdok 1 32 88 70
24 HEN] 360skskdskatskatokok 53X 88 70
25 [ 2 o 44 0%kksksdokdokokk 5 1 X 76 70
26 VL8 430%skskekskskkkskk 336 90 70
28 [ 7o 4 44 1 kskesrokedokokadokk4 1 2 79 70
29 e e 4] 2kdotekadootoiok k8 1 2 81 70
30 ELZE 420k Ak AR ARG 5 78 75
31 kK fe 42 2xkkspctokokodokok 2 32 81 70
32 gk ZEAE 440k Aok Aok Ak 318 77 70
33 VY <9 360%kstkstkatokrk(19 80 70
34 £ 41 3pipikiorik056 82 70
35 pekinb] A5 2kstkedokokotokk 2 35 49 45
36 MR 44 ] kdkdokdokedok k670 84 85
37 MR TS 44 [ ksdkokstoketokkk 670 83 85
38 B HE 52 2s%kksdksdskokedokedkok | 37 81 70




39 R R 420kAkAdkdokdokdk(0 15 60 70
40 pkegie 45 2skkkedkotokok k()1 6 82 70
41 e 430 kkkskdokokAokk 8 1 5 81 85
42 EINiERE 450%kAkdkdokdokdok (0] 2 78 75
43 (eSS 532kttt 717 69 30
44 22 B 452kttt 713 73 70
46 AT R 41 Qekdoferatokatokok k9 1 4 67 75
47 ohdg 430 kkkkdok kAR k698 88 70
48 iRV 4295kdkdokdokedokdkok [ 75 86 75
49 LB 42 2%kkkkdokkodokk8 1 7 81 75
50 e 42 skskskeroksdokoskekokkQ 7 2 62 80
51 25 1% JE 430skckkdokotokok k99 2 78 75
52 ERELS A30%kkkkxkAAIKD5T 77 70
53 At 4] Tkstoksdoksdokatokdok 770 91 75
54 T 45 2skkAkkk kK55 T 87 75
55 % & X 4503 kkskskodokokAokk 47 2 90 80
56 B A 44 sdokokstotokorodokok 71 2 69 70
57 Fh 4523k kcdok kAR k5 7 8 73 80
58 I 45 23%Hkkkeksictokok 510 86 75
59 F I 4525k dkkdokedokkk5 1 6 67 80
60 Wi 42 2xdkskstodokakodokok 1 70) 73 5
61 BN 45 2%kskkcksksiokkkk 91 5 61 60
62 [ LR A4 Qskdserstokdokokk 45X 81 70
64 YR 44 ksksketetototkokokk k2 19 95 75
65 FXEERA 4525k dkkdkokodok k6 3 2 65 75
67 1EiE5 52 2kkdkskpodokkAk8 10 84 5
68 VR QA% kKA kxAAK T 34 67 75
69 AR 44 Dtttk 03 1 59 75
70 EFA 41 Qskskekstestestestesteotokok () 1 4 74 75
71 L E & 45 kdoksdokdokadok k8 1 7 69 65
792 25 b b 430skdskeketokotokok k51 6 82 70
74 YrIg s 440%kkskkkskskokk k858 71 75
75 M e 41 Skststokskstotokokokk§ 1 X 89 75
76 N 61 2kkkskssksksioksksk Q1 3 74 75
77 7 E R 53 3sksksksksksrskskskkk4 16 44 60
78 FREE 452k kdoko kAR k83T 48 60
79 FNHEHK 61 2skkksotok ok k(1 5 81 75
80 ST 44 ] kstkdkdokdokk k676 65 05
81 A oS 431 wsskekssksksksksksk [ 12 80 80
82 Fo g 4523 kkkkkk40k k6 1 6 66 5
83 JkEs 44 0kkskdok kAR k9 38 72 65




85 HE K 452s5skksskedokokokok k5 1 8 71 75
86 T ¥ 51 Lasketatostotsokatokokd 1 X 73 75
87 I B T 4505k kkdkkkk4k5 34 61 75
88 RIS 43 sketeoketokoiook k4 1 3 80 75
89 X At it 450%kskkotekakokokk (037 71 60
90 W g 44 0xsskskekskokkkk 596 84 50
93 7k 51 3skskskkdokokokkk 31 3 83 70
94 AR 420tk ok T 5.4 87 50
95 &k 42 xskkskekskoktokk5 ] 1 75 70
96 ZE A [ 532skkskkskeksdokokkk558 69 71
97 Bk 42 T sskskskskortokkk 3.3 1 70 60
98 T 430%kspk k9 3X 77 70
99 REA 422%Hkkkkkkk % %819 89 71
101 BHRK 51 0skskstskskekstokokekk 677 74 70
102 I35 430sskkssketskokook k() 1 7 69 75
103 FUEE=S A50kskkdokotokok k23 3 73 75
105 Ji & 43 2kkdsfrstekedotekok 1 7X 70 71
106 Ao 51 0sskststesetosorstokok 4 1 3 75 60
107 TP 420%kkkkkskskkokk 317 86 50
108 4L KE 530sskskskeketokkokk k958 81 70
109 RN 5 1 Qsksktsickksickokk 51 6 62 71
110 524 A4 sekdoferstokatolorok 4 1 X 89 50
111 BT 3 4] 2kskskskskskskkkk k61 1 69 73
112 Wi 51 Lkskstskskokstokokeksk 532 91 70
113 =5 05 A5 2s%skkekstcskokokokodok T3 7 59 70
114 o TR 469sskskksickskoiokok6 10 76 2
115 S 5223 skssdktoetoiokk ()15 80 70
116 TA 500sksksskskeksskokekok 3 14 60 70
117 R 43 sstkskekstokoketokokB 1 3 75 72
118 [y 420skskskeksskokokokok8 19 80 71
119 K 522 kskdsktiokdokok 3 16 83 71
121 PRGN 430skdckekdokotookk 1 17 63 70
122 JE R 62 2%kkokolokakokokk 37 3 95 70
124 B 7 Ak 362skskkakstokokakokk 7 30) 68 74
126 W 452skkskekdskokdokok (19 78 72
127 Wi 430skdskeketokatokok k7 19 70 70
128 JE 362%kkkkdokkkx k(3 1 76 71
129 A A50%skskskektoskokkkk9 1 5 81 70
130 R 450 kskstkskskokoskskorkd [ X 79 70
131 g7 42 Qkdsferotokadokokk 73 | 78 71
132 TjH 430skkdsferstekadokokok | 7X 53 70




133 XIFRAA 360%kkkkakokakokkk 21 8 80 70
134 B 62 2skdkkskodokakodokk 4 59 69 70
135 B2 4 30kkkskketskokokokk 1 53 79 85
136 PREELE A4 Brsorkokikiok] 13 70 75
137 ZS(ER 43 I kktokdokokdok k8 1 5 7 75
143 LZRSYS A32kkkknkrkk 21T 88 75
151 X/ 43 0kstekeketokstotokk 379 7 75
153 EERYIV N 41 Irdolokstotokardork 81 3 80 85
154 ALY 45 2kskskkskekskokokskk 899 81 80
156 Mg 130skstsfoksdokstokokdok 95 1 80 83
157 g 42 0kdkekstokedokkk 51 0 81 75
159 FH7K 41 Isrdokokstotokordork 67 3 76 5
160 5| 42 2xdkspdokokAokk 7Y 73 85
161 BH/NSC 622k Akdkdokdok k9] 3 85 70
162 MEA 4525 kk kR kkkk() 1 3 87 80
163 TEARES 41 2skdokkstctokakdokok()] 2 91 73
164 FhAs 44 sksketskskekskeeokskok 590 76 75
165 g 360skskkeksksiokokskokok 31 8 82 80
167 L= 41 1kskstosksksderoskskkk 81 2 75 70
168 Foau 42 Qkststokskedtokskokok 61 7 84 75
169 EE4 A5 0kkskskskskskeokkok ()34 82 75
170 AR 3T 0sskstosksfeskoskokokekok 27 3 71 80
171 T 41 Lskskosioksoksiokk4 35 84 75
172 Sl 2 52 2sskstsksiestskstokkok ()10 71 78
173 BB e 362 kkskpokstotokdokk 2 79 90 85




